
1)

Answer: ____________

2) Convert the following mixed number 
23/6 into an improper fraction.

Answer: ____________

3) Convert the following mixed number 
51/2 into an improper fraction.

Answer: ____________

4) 4/13 of 52

Answer: ____________

5) Solve by factorising 
d2 + 6d - 16 = 0

Answer: ____________

6) 1   2/7 - 5   4/5

Answer: ____________

7) Find perimeter of 
triangle
a = 20 m , b = 80 m

Answer: ____________

8) 10/
3 ÷ 3/8

Answer: ____________

9)
81

7 /14

Answer: ____________

10) (815)11

Answer: ____________

11)

A = 68  B
Find the Angle at side B.

Answer: ____________

12)
15

Volume of Cone 
15

Answer: ____________

13) 62/10 ÷ 64/5

Answer: ____________

14) (-26) + (-51)

Answer: ____________

15) Convert the following mixed number 
104/10 into an improper fraction.

Answer: ____________
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16) 43 - (-30)

Answer: ____________

17)
16

6 /12

Answer: ____________

18) (s9)6

Answer: ____________

19) 12/9 + 7/8

Answer: ____________

20) 1/111 of 222

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 5/2 3) 11/2 4) 16 5) d = 2 or -8 6) 818/35 7) 180m

8) 88/9 9) 9 10) 8165 11) 112 12) 3534.2917352885 13) 31/34 14) -77

15) 52/5 16) 73 17) 4 18) s54 19) 25/24 20) 2
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